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Complete the table.

Fill in the missing multfiples of 7.

Input | 764 | 936 | 4.291

6413 7, .21, ____ 35

Output SH7

Rule: Subtract 389

JH9, 63,

How long is Jayden's watch?

-------------------- ﬁ

Preview

Please log in to download
the printable version of this worksheet.

473 students, 258 parents,

and 46 teachers attended
Maplewood Elementary’s Annual
Harvest Festival. How many total
people attended the festival?

(Show your work)

answer: people

Count the blocks.

.........

QRAQA

Standard Form:

Expanded Form:

Word Form:
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Find the sum. Circle the even numbers. Armani got on the bus at
7:32 A.M. The bus arrived at

1 ,52"" 95"" 289 '-|'63 school at 7:58 A.M. How long

5 349 was Armani's bus ride to school?
’

+ 3,921 130 801 372

647 796 518

Preview

Please log in to download
the printable version of this worksheet.

Armani’s bus ride was
minutes long.
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Fill in the missing numbers. Circle the values of the underlined digits.

8,619 834
5,396 80 800 8,000

2,165
2,984 | 7.158 20 200 2,000

hown n the Fill in the missina miiltinles nf &

Preview

Please log in to download
the printable version of this worksheet.

Noah has $38 saved. The video game he
wants to buy costs $60 plus $4 tax. How
much more money does Noah need 1o
save to buy the video game?

(Show your work)

answer: answer:
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Order the numbers from least to greatest.

5,064 3,490 4,906

Use the array to find the missing factor.

OO00000QO

WA WA

Find the difference.

6,000
= 2,532

Shade five-sixths of the circle.

1

Preview

Please log in to download
the printable version of this worksheet.

answer: computers

What fraction of the circle is
not shaded?
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Round to the nearest ten. Yesterday's high temperature was 65° F
and the low temperature was 17° cooler.
1,345 What was yesterday's low temperature?
(Show your work)

Round to the nearest hundred.

5,623
Round fo the nearest thousand.

3,""68 answer: °F

Preview

Please log in to download
the printable version of this worksheet.

2+3+2+56=

5in. Perimeter = inches

Complete the chart. Fill in the missing multiples of 9.
4,591

Add Add Add
10 100 1,000

9, 7 27' I LI'51

_ 63' _ 81' _—
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Complete the table.

Input [ 764 | 936 |4,291|6,413
Output | 375 | 547 |3,902(6,024

| Rule: Subtract 389 |

Fill in the missing multiples of 7.

7,14 ,21,_28 , 35,

42 ,49,_56 ,63,_70

How long is Jayden's watch?

IR A LR RN !
0 1 2 3 4 5 6

3inches

473 students, 258 parents,
and 46 teachers attended
Maplewood Elementary’s
Annual Harvest Festival. How
many total people attended
the festival?

473 + 258 + 46 = 777

Coun’r the blocks

Standard Form: 2,314

Expanded Form:
2,000 +300+10+H4

: 1, Word Form: _two thousand,
#inches 47 inches . 777 three hundred fourteen
answer: people
Find the sum. Circle the even numbers. Armani got on the bus at Use the array to find the
‘ 289 463 7:32 A.M. The bus arrived at product.
1 11 @ school at 7:58 A.M. How long

1,52|'|' was Armani's bus ride to . 8 8 8 8 8 8
5,369 801 (372) | <ok ' 999999
+ 3,921 How many sides? 4 O00DDD

Tos 647
10'81L| ¢ How many vertices? 4 O O O O O O
OO0O0O0O0O0OO0

Preview

Please log in to download
the printable version of this worksheet.

Order the numbers from least
to greatest.

5064 3490 4,906

3490 4,906 5,064

Find the difference.

99
5 101010

4,000
- 2,532
3,468

Use the array to find the
missing factor.

O00000OO0O
O000O00OO0O

2x_7 =14

Shade five-sixths of the circle.

What fraction of the circle is
not shaded?

The computer lab at school
has 5 rows of computers.
Each row has 8 computers.
How many total computers
are in the lab?

?

[e]8]sls]s]

5x8=40

answer: Ll'o computers

Round to the nearest ten.

1,345 _ 1,350

Round to the nearest hundred.

5,623 _ 5,600

3,468 _ 3,000

Round to the nearest thousand.

Yesterday's high temperature
was 65° F and the low
temperature was 17° cooler.
What was yesterday's low
temperature?

65-17 =48

answer: 48 °F

Find the perimeter of the
shape.

5in.
3+2+5+2=12

Perimeter = 12 inches

Complete the chart.

4,591

Add | Add | Add
10 100 1,000
4,601 (4,691 5,591

Fill in the missing multiples of 9.

9,_18 ,27,_36 ,45,

54 ,63,_72 ,81,_90
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